ST HH =

27K #E % (L8)

- —
ERGIEES
No. B A AXB C BXC D F—4
1 1 1 1 1 1 1 1 8
2 1 1 1 2 2 2 2 18
3 1 2 2 1 1 2 2 20
4 1 2 2 2 2 1 1 14
5 2 1 2 1 2 1 2 28
6 2 1 2 2 1 2 1 25
7 2 2 1 1 2 2 1 12
8 2 2 1 2 1 1 2 21
é?r-
©0-l86)* [607 [86* [14€* . .
8 4 4 8
E1KEDF 60 19 59 68 74 71 59
E2KAED 86| 87 78 72 75 87
BE A 845 98 125 0.5 2 98| 3135|
/ / =F.DIST.RT(FO, EHEE®, )
TR A9 v FO plE “T  Fw 5l =F.DIST.RT(9, 1, 1)=0.205
FHNBEADFESF 118 184 | 0.205 161.
FEBDF S 845 45 4225 0.097 161.45
IMECHES 125 /1] 175 6.25 0.242 16145 =FINV.RT(0.05EHE ¢, )
EPHEDDFE A 98y 98 49 0.090 161.45 5l =F.INV.RT(0.05,1,1)=161.45
ZXEHEFAAXBDEAF 98 98 49 0.090 161.45
KXH{EFABXCOEAF 0.5 0.5 0.25 0.705 161.45 0.10
BETFHH 7 -
BEAF 313.5]

V. 2

FO( &R L) =V Vg

SEV=S(FEHM) BHEP

FO >161.45T

0.02 ;\\

/ pfE< 0.05

0 20 40 60 &0 100 120 140 160



7—1) 5 S [0} Y FO pliE F
FMBADEFF 18 1 18 9 0.205 161.45
FERBDFEA 84.5 1 845 4225 0.097 16145 —
FERCHEH 125 1 125 6.25 0.242 161.45
FEDDEA 98 1 98 49 0.090 161.45
REEHAXBDEA 98 1 98 49 0.090 161.45 . o A o derl b
B X OO A =05 — o5 625107051 16145 T DI E %R
BEFEAM S 2 S 2 VAN < - >
Y = FO(7TRRLE) < 2 FTz[F plE = 0.2
U mE#EmEexcEREZT—)oy
T 7% S ) Y FO pfE F
ESEINOE DL 18 1 18 14.4 0.063 18.51
FMEBOIEAM 84.5 1 845 67.6 0014%—__ 1851 )]% ‘3736
IRECHEHI 12,5 1 12.5 10 0.087 18.51 <0.05 FHEAM
THHEDDFE S 98 1 98 78.4 0.0134/’3:5—1’>
REEBAAXBD A 98 1 98 78.4 0013k— 1851
REFEAT 25 2 1.25
¥EATD 3135 7
\ J

v
HitHE



F.DIST.RT

fx [=SumiFs(i3:110,03:D10,"=1",¢3:C10,"=2")|

—CHIMT210hDDFIA1 1 THAIFIDIE

BEHTS

5i#sk#|A1B2c2D2 |

=SUMIFS(J3:J10,13:110,"=2")

ZHAALZFABIIRZEEANBHLD T,

AEBD e REZAVTENKEWAIB2EETE

ZECIHRKRIEDC2, ZEDIED2%ERE

A B of D E E G H I J
i
2 No. I g A I AxB C BXC D | 7—5|
3 1 i 1 1 1 1 1 1 8
4 2 1 1 2 2 2 2 18
5 3 1 2 2 1 1 2 2 20
6 4 1 2 2 2 2 1 1 14
7 5 2 1 2 1 2 1 2 28
8 6 2 1 2 2 1 2 1 25
9 7 2 2 1 1 2 2 1 12
10 8 2 2 1 2 1 1 2 21
] ] —n [
" A|Et|_146 |
F1KEDF 60 79 59 68 74 71 59
E2KEDI | 386 67 87 78 72 75 87
5IF 70 \ 845 18 98 125 05 2 98| 3135|
ZaE B1 B2
Al 26 53
A2 34 33
C1 68
c2 78
D1 59\ _ _ _ v o
> TIT SUMIFS(J3:J10,F3:F10,"=2")



FDISTRT 5| X fx  =SUMIFS(J3:J10,D3:D10,"=1",C3:C10,"=2")|
A B c D E F G H I J
i
2 No. I B I A I AxB C BXC D | 7—%|
3 1 1 1 1 1 1 1 1 8
4 2 1 1 1 2 2 2 2 18
5 3 1 2 2 1 1 2 2 20
6 4 1 2 2 2 2 1 1 14
7 5 2 1 2 1 2 1 2 28
8 6 2 1 2 2 1 2 1 25
9 7 2 2 1 1 2 2 1 12
10 8 | 2 | 2 ! 1 2 1 1 2/ 21
1 / &E|[ 146 |
E1/KEDF 60 79 59 68 74 1| 7 59
E2KEDH 86 67 87 78 72 BT A
FIEHH 845 18 98 // 125 05— 2| / 98| 3135|
/
B HETE=D28/2+F14/4+11474-2%J11/8
—%%| Bl B2 | AR 31.25 t 5% m=t(¢p, @)=T.INV.2T(0.05;2Z D EHHE pg)
Al 26 53 t53 f5% = 4.30 — 430
A2 34 33 AMREHDF K 0.75 ’
{EFEX B DIE 417
C1 68 EEXMED TR 27.08 = o
c2 78 {EERE D LR 35.42 ERERXEDIE= Pk, a)
D1 59 A RSSO B i 4.304/1.25%0.75
2 B REECAVNVCEBEORNH s = 4.17
BiEk#E[A1B2C2D2 | me BT —3%
s o \v / FO piE
FHEADTE A \8;2 ~ 1 \\//18 144 0.063 1851
_ FHEBDFEAH : 1 845 67.6 0.014 1851
1§§E|ZFEE]0)-FBE ,.“TEE 1:-*5[&!’1@% FHMECOFEALH 125 ) 1 //\\ 12.5 10 0.087 18.51
= N FHHEDDFE A 98 1 98 78.4 0013 18.51
ERREDTR=RHEE HEMXREORE XEERAAXBOFEHT 98 1 98 784 0013 18.51
BREFAR 2.5 2 125
REH 3135 7




A

FDISTRT 5| X fx =SUMIFS(J3:J10,D3:D10,"=1",C3:C10,"=2")|
A B © D £ F G H I J
1
2 No. I B I A I AxB C BXC D | 7—%|
3 1 1 1 1 1 1 1 1 8
4 2 1 1 1 2 2 2 2 18
5 3 1 2 2 1 1 2 2 20
6 4 1 2 2 2 2 1 1 14
7 5 2 1 2 1 2 1 2 28
8 6 2 1 2 2 1 2 1 25
9 7 2 2 1 1 2 2 1 12
10 8 2 2 1 2 1 1 2 21
u ] n —N ]
11 BEH_146 |
F1KEDT 60 79 59 68 74 71 59
F2KEDH 86 67 87 78 72 75 87
FEAFF 84.5 18 98 125 05 2 98| 3135|
ik B1 B2 T 31.25 » Al 3125
Al 26 53 t5 5% 5 4.30
A2 34 33 AYREHDFEH 0.75
EEXE DR 417 FAIXE DR 6.36
Ci 68 EFEXED TR 27.08 FHARXBEDOTE| 24.89
C2 78 EERXE N LR 35.42 FRIXBOLER| 3761
D1 59 1
D2 [T, FRARMDIE= t(ps, a) \[ (1+)ve
e
58k #|A1B2C2D2 | B
T - - - — - = 4.30,/(1 + 0.75)x1.25
EHEADFEHH 18 1 18 144 0.063 1851 = 6.36
FHEBDFEAH 845 1 845 67.6 0.014 18.51
FHRCHOFEA 125 1 125 10 0.087 18.51
EEDIOR L 98 1 98 78.4 0013 18.51 s _ R s =
% EEFIAXBDF S 98 1 98 784 0013 5511 PAIRE O TR=RFH — %IE\IHZFEﬁ@m_BH
%‘fg:g — §g § 1.25] FRIXE D TE=2 %8+ %R XEDiE




